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Instructions: This examis in two parts: Part | is to be completed pari
posted on Blackboard for Part | and you will answer questions about
to be completed entirely in class. You may not use cell phones, and
resources you are specifically directed to use. You may access your d
Blackboard. You may access the data files posted to Blackboard for t
using the data file that matches the exam version you are given.

Part I: At Home

This part was completed at home. You can upload the Excel file for P,F

Blackboard for use during the Exam period. However, this submissio

it must be submitted to the “to be graded folder” to receive credit.

Part Il: In Class

ly at home using the materials
that work in class below; Part Il is

fou may only access internet

ata file for Part | of the exam in

Te Exam part Il. Be sure you are

rt 1 to the Part | folder in
will not be graded in this location
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Blackboard that corresponds to the

1. Use the work done at home to answer the Part | questions.

2. Open the file from the in-class portion of the final posted on
version of the exam you have. This is Exam B.

3. Answer the questions corresponding to the data file, and any
required.

4. When you have finished answering questions on the exam, a
recorded on the paper test for grading, upload both the take
Excel file to the same in-class Exam folder in Blackboard for g
to the correct folder will be graded. (If in doubt, put all work

5. Turnin your paper copy of the exam to your instructor.

6. Enjoy your break!
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1

¢ (Xl)z Ele
e (x2) = 20

How did the result of the model change when we adjusted the profit for each type of table to

$120 and $300?

dow
(had

For the dataon e

any stage of the r

(6 points)

Taor2, P-yadus

Write the final re
choosing it. (9 po

p
-

Y

nts)

Xy

n fvorn lb,STO S
mployee’s year-end performance, which varfable had the highest P-value (at
egression analysis)? State the name of the

K. = 0a%9
Pualuepadl lo
B* hugle

0.882X, + 0.2€0x, t 0O

12, 5S40

riable and the P-value. (6 points)

O.SpY W

gression equation you obtained, the R? valug, and explain your reasoning for

5[2%3

1




6. Did any of the v

o, 5

and.

7. State a 99% con
context. (6 poi

CO{,Q_I'T:PI 0'8?)8‘)
WL are 49%

‘e Hue

8. Interpret the me
9. Use your equatio

and scores of 82,
that prediction.

omit it as irreleva

A

b

St
=

100.

10. For the data on se

W

arceduading

f

ariables in the data set appear to be nonline

callew

Mles Loy all- ppn

| idence interval for the coefficient for Test 3

ts)

ar? Why or why not? (6 points)

Dersen

lin your final model. Interpret it in

,wdhmﬁ%mamggﬁf7‘

aning of the slope for Seniority in context. (6

91, 78 on each of the three Tests. Construci
Hint: Use you best model. If the model doe:
nt.] (12 points)

13

'86.13, 14.22)

frenh dooriorsd

0.218 ard p g%

%wwi-—nauhuky

ot 3 éb(j,o-éﬂau

‘points)

vﬁvwsw gaeo Uy b‘? IR'Y M

n to predict the performance rating of an employee with 33 years of seniority,

a 95% prediction interval around
‘not contain a particular variable,

a ice extent, describe the general trend of the data. (6 points)

|



-11. Write the best regression equation you found and state the [R2 value. (6 points)
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12. Interpret the meaning of the R? value in the context of the problem. (8 points)
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Calculations in Excel: (1) 30 points, (2) 35 points, (3) 20 points, (4) 20 pbints.
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